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StudentName: ExamDate: ___ ExamScore: ___
1070 = 200,7 x 100 =
107% = 1002 =
737,2 x 1007 = 743, 4+ 1002 =
1x10= 750,7+ 1001 =
107 = 735,4 1079 =
~1x107Y = 845,910 =
8 x 10° = 212 x 1002 =
709, 6+ 100D = 343,2+ 1009 =
215,8+ 1001 = 100D =
7% 10 = 8 x 10% =
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StudentName: _ ExamDate: _~ ExamScore:
1077 =0.1 200,7 x 107 = 0.2007
107 = 0.0001 1072 = 0.01
737,2 x 107 = 0.7372 743, 4+ 1072 = 74340
1x10=10 750,7 + 100" = 7507
1079 = 0.1 735, 4+ 107% = 7354000
—1 x 107 = -0.0001 845,9+ 10" = 8459
8 x 10% = 800 212 x 10072 = 2.12
709, 6 + 107 = 7096 343,2 + 107 = 3432000
215,8+ 10D =2158 1000 =0.1
7% 10 =70 8 x 10* = 800
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